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B.Ed 2014 Arts Question Paper

[SECTION-I]

Directions for Question No. 1 - 4 : Read
the passage carefully and answer the
questions that follow

(Identify the correct alternative)

Raju, a young lad of 18, belongs to a small
town of Odisha where people know and care
about each other. He studies B.Com. at the local
college. He loves to spend his leisure at his
uncle’s store. he helps Uncle Anand in setting
up displays and keeping accoutns. he likes to
help the customers whom he knows by their
nicknames. Uncle Anand has set up the store
with a mission to make sure that his
neighbours get everything they need at a fair
price. He deals in a wide variety of goods, based
on the needs of the people in the
neighbourhood. Raju is impressed by his
uncle’s way of handling and caring for
customers. Uncle Anand is loved and respected

throughout the locality for his generosity in "

helping the poor. He has taught Raju the ints
and outs of retailing including ordering
merchandise, putting up a sale, customer
relations, and keepting the books. Raju has
high regards for his uncle.

1. How do the people of Raju’s town treat
one another?
A. People areindifferent to one another
B. Peopleareunfriendlytoone another.
C. People treat one another with

respect.

D. People are selfish.

' Which of the following is not true ?

i A. Raju spends his leisure at his uncle’s
store.
B. Raju loves to learn the tricks of
eaming money.
C. Raju helps Uncle Anand at the store.
D. Rajuis helpful to the customers.

3.

Why did Uncle Anand set up his store ?

A. To earn a lot of money.

B. To be famous.

C. To.teach Raju the skills of retailing.

D. To provide goods to customers at a
fair price.

Which of the following suggests that

uncle Anand is kindhearted ?

A. He deals in a wide variety of goods.

B. He is loved and respected
throughout the locality.

C. He s generous in helping the poor.
D. Raju has high regards for his uncle.

Which expression is most similar in
meaning to ‘customer’ ?

A. One who honours ancient customs.
B. One who uses costly things.

C. One who buys things. form a shop.
D. One who collects customs duties.

Which expression is most similar in
meaning to ‘customer’ ?

A. A wholes:ie trader

B. Goods that are for sale in a shop.
C. A financial expert

D. Financial activites

Which is most opposite in meaning to
‘generosity’ ?

A. Kindness
C. Greediness
B. Cruelty

D. Selfishness

Which expression is most opposite in
meaning to ‘regards’ ?

A. Disrespect
C. Concern
B. Esteem
D. Respect
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22.

23.

24.

25.

Which of the following Venn diagrams
best indicates the relationship among
Tall men, Black-haired people and

Indians ?
:
;

The number in the three intersecting
circles indicate the number of people
who speak different languages. How
many speak only two langauages ?

= -
A. 30 C 2
B. 13 D. 14

How many triangles are there in the
following figure ?

A 8 .1
B. 10 D. 12

Facing towards north, Ram walked 10
meters. Then he turned right and
walked 6 meters. He again turned to his
right and walked 34 meters. Finally he
turned left walked 4 meters. How far is
Ram from the starting point ?

A. 34 meters C. 44 meters
B. 25 meters D. 26 meters

26.

28.

29.

30.

31.

Find the missing number from the
alternatives.

C. 12
D. 6

A 4
B. 16

In the following number line how many
times do the two consecutive numbers
have a difference of 276412287421
53864171413286

A 7 C. 6
B. 8 D. 4

If you write down all the numbers from
1 to 100, how many times would you
have to write 3?

A 11 C. 20
B. 18 D. 2
Which is the odd one out ?
100, 64, 343, 27, 125, 8

A. 27 C. 343
B. 100 D. 125

If POND is coded as RSTL, how is
HEAR written in that code ?

A. GHIJ C. JIGZ
B. GHIZ D. JCLZ

A student is not able to progress well in

studies along with other students. The
teacher should : |

A. Reprimand the student
B. Ignore the student

.C. Arrange for extra instructians for

the student

Advise to take private tuition
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32. A student is found reading a story book 36. In a class of students with varying
while the class teaching is in progress. abilitites the teacher should give more
The teacher should : attention to : :

A. Advif)e to participate in class A. Bright students
teaching & read the story book at
leisure ' B. Average students

B. Should not interfere with the C. Students with poor learning ability
tudent' di tory book
Stuclents Iacing story c.>o D. All students

C. Scold the students & ask him/her not . . .
to bring the story book again to class 37. Ifa ls\tudel:\t r;\‘;sconducts in the class the

D. Bring the matter to the notice of the teREhephotty |
Head master 3 A. Punish him/her on the spot

33. On a holiday, a teacher finds a group of B. Try to know the reasons of his / her
students indulging in mischief outside misconduct and firmly stop her from
the school. The teacher should misbehaving in the clam
A. Ignore them as it happens outside C. Ignore her and concerntrate on

the school on a holiday teaching the whole class

B. Report the matter to police D. Ask him / her to leave the class

C. Exercise his/her moral authority to and report the matter to the Head
stop them from doing the mischief _ master d )

D. Call a meeting of students in the 38. If a bright student is assigned to help a
school to discuss the matter of weak student learn his / her lessons, the
students bright student would :

34. The need for a garden is felt in the school A. Gain further insight into lesson
but there is no fund for it. The teacher B. Waste his / her valuable time
peouId ! C. Neglect his / her own study
A. Ask students to contribute for the I —

e D. Create more difficulties for the weak
gar . student to learn

B. Request the authority of theipcheo 39. Before teaching a 1 the -teacher
to allocate fund for the porpose : sl:?ould g, "essontihe.

ts to raise the garden

8 RSl ER ; A. Ask the students to read the lesson

themselves
before hand

D. Work with students to raise the .

B. Create interest among the student
garden
‘ , to read the lesson

35. A student remains absent from school . fions from the 1
for a long period. The teacher should - = q.ues ° : . A :

A. Strike off his/her name from school D. Explain how different the lesson is
register 40. Which of the following has the least

B. Inform his/her parents with impact on students’ learning ?
warnings

C. Impose afine

D. Contact the student and his/her
‘ parents to know the reason of
absence and find a solution

A. Teaching Aids

B. Teaching methods

C. Reputation of the school
D. Teacher’s teaching gkjlls
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41.

43..

Which of the following is least effective

in creating motivation ?

A. Telling interesting story about the
lesson

B. Asking them to take a test after the
lesson is taught

C. Creating
students

D. Relating the lesson to the students’
immediate environment

curiosity  among

If a student commits a mistake while
learning, the teacher should consider it
as an opportunity to :

A. Punish the student
B. Emphasize how difficultitis toleamn

the lesson

C. Try alternative methods to help the
student

D. Pointout the mistakes and we
of the student :

Students learn best wken :

"A. The teacher explains

45.

B. The teacher demonstrates

C. Students do the activities themselves

D. Students read the lesson from the
books

If all students participate in a classroom

activity it will lead to:

A. A lot of time being wasted

B. Not completing the lesson in time

C. Better learning by all students

D. Creating a lot of noise

Which of the following goals of
education is derived from the

constitution of India ?

A. Promotion of secularism

B. Promotion of equality

C. Development of
citizenship

D. All the above

democratic

47.

48.

49.

Some students have special talents. An

ideal teacher should :

A. Encourage them to develop their
talent.

B. Nottake note of special talent of the
students

C. Concentrate on class room teaching

D. Adpvise the students to develop their
talent only after completing school
education

In a calss room discussion on important

social issues the teacher should :

A. Speak alone

B. Allow students to put forth their
views on the issue

C. Allow only the bright students to
speak

D. Discusswy the views expressed in
the text books.

To Promote reading habit among

students they should be encouraged to

read :

A. Text - books only

B. Text - books & Newspapers

C. Text - books, Newspapers & Books
available in the school library

D. Text - books, Newspapers, Books
available in school library and
collect information from the internet
on variety of subjects.

Which of the following skill should be

developed in students for promoting

lifelong learning ?

A. Memory skill C. Speaking skill

B. Learning skill D. Writing skill

A teacher wants all his/her students to

accomplish a learning task within a

specific time. To achieve her/his objective

she/he should :

A. Promise reward

B. Threaten severe punishment

C. Not allow students to attend classes
without completing the work

D. Threaten to detain those who do not
complete the work in time.
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52. Why did the octopus seek help from the
SECTION-II passing fishes ? ok o
was bored ot swimin
(ARTS STREAM) A. gle(_)c::se he ‘ | g
Directions for Question Nos. 51-5;: B. Because he badly néeded to make
Read the passage carefully and answer the friends.
questions that follow : , C. Because someone had tied him up
Once upon a time there was a quiet Sh}; in a kndt
d to have lots o _
octopus. Although he wante t himself tied u
friends, he was too self-conscious. One day, he D. ?ecause he had go P
was trying to catch an oyster. The oyster in a knot. . '
slipped from his clutch and he tied himself into 53. The octopus, remembering how the little
one massive knot. He tried to wriggle free, but fish had helped him, decided that he
failed, Fisked K6l on R ciparuinp it should save the little fish. What feeling
Many fihes swar pasignanngdeinilufione of the octopus towards the little fish does
little fish offered to help and made all the this lirie signifyR
tentacles free from the suckers. The octopus felt C. Cratitud
relieved but he was too shy to talk to the fish A, Revenge 3 RFRARUQE
and make friendship with him. He simply B. Compassion D. Repentance
thanked the fish and quickly swam off. 54. ‘Hereally wanted to gobble them down.’
One day, the octopus was resting What emotion of the big fish does this
between some rocks. He found everyone sentence convey ?
around him hurriedly swimming past. He :
by A A. Happiness C. Anger
looked out and saw an enormous fish coming
over to feed in that area. The octopus quickly B. Pleasure D. Helplessness
hid himself. Peeping out, he saw that the huge 55.

fish was chasing the kind iittle fish. The
octopus, remembering how the little fish had
helped him, decided that he should save the
little fish. He shot out from the rocks and put
himself right before the giant fish. He shot out
the biggest jet of ink of h_is life. He grabbed the
little fish and swam off to hide in the rocks,
Everything happened so fast that the giant fish
had no time to react. He soon recovered from
the surprise. Off he went to the rocks, looking
for the octopus and the little fish. He really
wanted to gobble them down. Suddgnly, he
began feeling a terrible itch all over his body.
It turned out that the octopus’s dark ink had
iven him a terrible allergy. So he swam away,
- tated all over. As soon as he was gone, all
1 af‘ hes came from their hiding and
thje e ed the octopus on being so brave.

tulat
Cglngn:/vuhy didn’t the octopus have many
. friends ?
A. He loved to be alone.

ry much self-conscious.
be his friend.
the rocks.

B. He was Ve
C. Nobody liked to
D. He lived among

Which of the following can be the most
suitable title for the passage ?

A. The fishes of the ocean
B. The tiniest fish

C. The big hungry fish
D. The brave shy octopus

Directions for question nos. 56 and 57 :
choose the correct form of the words given in
brackets to fill in the blank.

56. The movie turned out to be a big

disappoint
A. D?sappointment ( PP )
B. Disappointing
C: Disappoint
D. Disappoin(edly

57.  The Director should have
thought about it
A. Seriousness
Seriously

C
B. Serious
D

(serious)

. Unserious
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58. Which is a synonym of ‘attractive’ ?
A. Charming
C. Horrible
B. Repulsive
D. Shabby

59. Which is the antonym of ‘encourage’ ?

A. Inspire
C. Motivate
B. Dissuade
D. Induce

60. Pick out the correct spelling of the word
related to ‘repeat’.
A. Repeatation
C. Repetation
B. Repetition
D. Repitation _
61. Pick out the correct spelling.
A. Cleark C. Clerk
B. Clerck D. Clerck
62. Which of the following sentences has
punctuation error ?
A. The rains lashed, hailstones danced
and the field was flooded.
B. the grasshopper howled in hunger.
C. He said to the ant, “Will you give
me a morsel of food.”
D. “Go then, “Said the ant, “and dance
winter away.”
Directions for Question Nos. 63 & 64 :
What kind of words are the underlined ones?
63. Cocks crow in the morning to tell us to
rise.
A. Noun C. Adjective
B. Pronoun D. Verb
64. A bull was chasing another menacingly.
A. Verb C. Noun
B. Adverb D. Adjective
Directions for Question Nos. 65-67:
Choose the correct form of the verbs given in
brackets for the blanks.
65. I woke up with a start when the clock
on the wall ___ (strike) twelve.
A. striking - C. strike
B. struck D. strikes

66.

67.

68.

69.

69.

My friends returned to our flat after they
____ (finish) their party.

A. finished

C. had finished

B. were finishing

D. would finish

If Thad been free, I _____(join) their party.
A. joined

B. would join

C. would have joined

D. could join

Pick out the correct passive form of :
‘What has he done for the reward ?’

A. What can be done by him for the
reward ?

B. What had been done by him for the
reward ?

C.” What had he done for the reward ?

D. What has been done by him for the
reward ?

Pick out the correct active form. of :
“Traffic rules must be obeyed by drivers’.

A. Drivers might obey traffic rules.
B. Drivers may obey traffic rules:
C. Drivers must obey traffic rules.
D. Dirivers obey traffic rules.

Pick out the correct reported speech for :
The king said to the jester, “There is
no way to escape punishment.”

A. The king told the jester that there is
no way to escape punishment.

B. The king told the jester that there
was no way to escape punishment.

C. The king told the jester that there
would be no way to escape
punishment.

D. The king told the jester that there
had been no way to escape
punishment.

|
|
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71. Identify the correct sentence in direct
speech for : The mother asked the boy
where he had been all the afternoon.

A. The mother said to the boy, “Where
have you been all the afternoon ?”

B. The mother said to the boy, “Where
you had been all the afternoon ?”

C. The mother said to the boy, “Where
had he been all the afternoon ?”

D. The mother said to the boy, “Where
was he all the afternoon ?”

72. ldentify the correct sentence in direct

speech for : The boy said that he had
been playing cricket with his friends.

A. The boy said, “He had been playing
cricket with his friends.”

B. The boy said, “I am playing cricket

with my friends.”

C. The boy said, “I played cricket with
my friends.”

D. The boy said, “I have been playing
cricket with my friends.”

73. Rewrite removing ‘too’ without

changing the meaning : (Identify the
correct answer)

The old man is too weak to walk.
A. The old man is very weak.

B. The old man is so weak that he
cannot walk.

C. The old man cannot walk.
D. The old man is weak to walk.

74. Express the méaning of the sentence in

superlative degree : (Identify the correct -

answer)
No other metal is as precious as gold.
A. Only gold is a precious metal.

B. Gold is the more precious than any
' other metal.

Cc. Gold is the most pfecious metal.

Gold is the best metal.

©

—

75. Rewrite the following complex sentence

as a simple sentence. (Identify the correct
answer)

He bought the library which belonged
to his neighbour.

A. He Dbought his
library.

neighbour’s

B. He bought the library from his
neighbour,

C. The neighbour sold his library and
he bought it.

D. He bought the library because his
neighbour sold it to him.
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(9) Fony (9) BRI 101. Who was the founder of Muslim
@) clol League ?
4
(&) gaa A. Aga Khan
¢¥. ‘QEQRI’ AQQ Q@UAR USRS AR B. Nawab Salimullah
o2 | C. Mohammad Ali Jinnah
(@) 2RI () 6 D. Sri Sayyad Ahmad Khan
< 102. Who was the author of ‘Bande
(&) @6l (@) eQruan Mataram’ ?
08, ‘QNe’ Gea SORI0 AdeQRIe e QF | A. Rabindranath Tagore
‘ " B. Vishnu Sastri Chiplunkar
() QQ@ (e) a8y C. Bankim Chandra Chaterjee
(@) <9 (@) 2RIQA@ D. Ananda Mohan Bose
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103. What was the title that Mahatma Gandhi 109. Who did give the clarian call, “Go back
did surrender at the initial stage of Non- " toVedas”?
cooperation Movement ? A. Keshab Chandra Sen
A. Mahatma B. Kaiser-i-Hind B. Swami Vivekananda
C. Father of Nation D. Knight C. Sri Aurobinda
104. For which incident did Mahatma Gandhi D. Swami Dayananda Saraswati
suspend the Non-cooperation 110. Who was the first President of Indian
movement ? National Congress ?
A. Jalianwallabag Tragedy A. Surendranath Banerjee
B. Arrestof C.R.Das and Motilal Nehru B. A.O.Hume
C. Burning of Chauri Chaura Police C. W.C.Banerjee
station D. G.K.Gokhale
D. Failure to attract mass support for 111. Who did say ‘Swaraj is my birth right"?
the movement A. Lala Lajpat Rai
105. .Who did organize the Swaraj Party after B. Subas Chandra Bose
the suspension of Non-cooperative C. Bal Gangadhar Tilak
movement ? . D. Bipin Chandra Pal
A. C.R.Das and Motilal Nehru 112. Who was the first Governor of Bengal ?
B. C.Rajgopalchari A. Robert Clive .
C. Jatin Das & Rash Bihari Bose C. L‘:”rd Da}l-llxou.s@
D. Bhagat Singh and Butukeswar Dutt L Wereen a.stmgs.
106. Who is regarded as the Father of Indi ol 1
+ Whos regarded as the Father ot 'ndlan 143 \hen did the First World Was begin ?
Renaissance and a prophet of b .
Humanism ? A. 28 July 1914 .30 July 1914
. 31 1914 :
A. Raja Ram Mohan Roy C -July 9 D. 01 August 1914
s g Al ) 114. Who did say, ‘After me the deluge’ ?
. Owami Dayananda Saraswati A. Louis XIV
C. Swami Vivekananda B. Louis XV
D. Ishwar Chandra Vidya Sagar C." Louise XVI
107. Who did abolish the ‘Sati System” in D. Marie Antoinette
India ? ' 115. When was the Fort of Bastille razed to
A. Lord Dalhousie, ground ?
C. William Bentinck A. 20June 1789
B. Lord Canning ' C. 17th July 1789
D. Lord Comwallis P A4y 1%
108. Who did introduce the doctrine of lapse ? - D. 04 Augugst 1789 |
‘ 116. How many schedules does the Indian

A. Lord William Bentink
B. Lord Dalhousie

C. Lord Wellesley

D. Lord Hastings

constitution have ?
A. Seven
B. Nine

C. Ten
D. Twelve
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117.

118.

119.

120.

121.

122.

123.

124.

How many members are elected to Rajya

Sabha by the states and Union
Territoreis ?

A. 238 C. 242
B. 240 D. 250

Which of the Union Territories have
legislative Assemblies ?

A. Dadra and Nagar Haveli

B. Andaman and Nicober Island

C. Puduchery and Delhi

D. Daman and Diu

What is the age of retirement for a High
Court Judge?

A. 58 yrs. C. 62 yrs.

B. 60 yrs. D. 65 yrs.

What is the status of India as mentioned
in the constitution ?

A. Federation C. Union of States

B. Unitary State D. Confederation

Which state of India is given a special
status under Article 370 ?

A. Nagaland

B. Jammu & Kashmir

C. Mizoram

D. Sikkim

What does the preamble of the
constitution describe India as ?

A. Sovereign Republic

B. Soverign Democratic Republic

C. Sovereign Soci-alist
Democratic Republic

D. Soverign Socialist Republic
Which is the oldest of the following High

Courts ?
A. Allahabad High Court

B. Karnataka High Court
C. Patna High Court

D. Bombay High Court
. cle of the constitution does

Secular

which Arti

Wh:rcil;e for president’s Ru‘le ?
e 52 C. 360
5 256 D. 362
B.

125.

126.

127.

128.

129.

130.

131.

132.

133.

—

What is the minimum age required to be
elected as a member of Rajya Sabha ?

A. 21 yrs. C. 30 yrs.
B. 25 yrs. D. 35 yrs.
Which book was written by

Montesquieu ?

A. Letters on English
B. Social Contract

C. The Spirit of Law

'D. Common Sense

Who did describe the 19" century as the
age of Nationalism ?

A. Kant

B. Hegal

C. Edmund Burke

D. Winston Churchil

Who did lead the revolt of 1857 at
Kanpur ?

A. Kunwar Singh C. Nana Sahib
B. Hazrat Mahal D. Laxmi Bai

Who was not a moderate leader of thé
Indian National Congress ?

A. Dadabhai Naroji

B. Pherozeshah Meheta

C. Gopal Krishna Gokhale
D. Bal Gangadhar Tilak

When was the supreme court of India
established ?

A. 1935 C. 1949

B. 1948 D. 1950

Which place of India is closest to the
equator ?

A. Port Blair C. Indira point
B. Kanya Kumari D. Kavarti

What is the apporximate lattitudinal and
longitudinal extent of India ?

A. 25 C. 35° .

Which of the following places does have

longest longitudinal dj w
Delky 2 al distance from Ne

A. Dubai C. London

B. Singapore D. .Tokyo
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134.

135

136.

137.

138.

139.

140.

141.

What is the percentage of mountain
areas in India with respect to her total
land area ?

A. 437 C. 277

B. 107 D. 187

Which pair is different from the other
three on the basis of relation of the state
and capital ?

A. Manipur-Imphal

B. Meghalaya-Shilong

C. Mizoram-Agartala

D. Nagaland-kohima

The great Rann is a

A. Desert Basin with sand dunes

B. Dissected lava plateau

C. Extensive deltaic plain

D. Salt soaked marshy plain

Which one of the following resources
does differ from the rest three on the basis
of their uses and availability ?

A. coal C.
B. solar energy D. shaleoil
Which of the following is a source of
conventional energy ?

A. Atomic energy C. Wind energy
D. Solar energy

petroleum

B. Tidal energy
Which of the following type of resources
is non renewable ?
A. Soil

B. Animal

Which of the following Asian countries
characterizes with high human resource

development ?
A. Chine

B. India

In which state of India is the yield rate
of crops the maximum ?

A. Andhra Pradesh C-
D. Tamil Nadu

C. Mineral

D. Forests

C. Japan
D. Thailand

Punjab

B. Haryana

142.

143.

144.

145.

146.

147.

148.

149.

150.
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Mineral fuels are found in which of the

following types of rocks ?
A. Sedimentary B. Igneous
C. Metamorphic D.Intrusive Igneous

Name the soil whose colour becomes
yellow in presence of excess water
vapour.

A. Forest B.Saline & Alkaline
C. Black D.Red

What is the average density of
population of India as for 2011 census ?

A. 336 C. 372
B. 340 D. 382

Which of the following National park is
different from the rest on the basis of the
dominant wild life ?

A. Corbelt
B. Kajiranga

C. Bandipur
D. Kanha

Which of the following type has the
largest number of species in the world ?

A. Bird C.
B. Fishes

Name one of the following places where
tigers are seen.

A. Sunderban C. Palamu
B. Similipal D. Rewa

Name of the city through which the
standard meridian of India passes.
A. Delhi C. Kanpur

B. Allahabad D. Patna

To which of the following category does
the ‘Dinosaur’ belong ?

A. Endangered species

Invertebrates

D. Mammals

B. Extinct species
C. Rarespecies
D. Vulnerable species

Which type soil is best suitable for tea
cultivation ?

A. Alluvial
B. Forest

C. Mountain
D. Black
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1. (©) 2.(B) 3. (D) 4 (C) 5. (C) 6 (B) 7.(D) 8 (A) 9. (B) 10. (C)
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